
Copyright © 2020 E.P. Barrus Ltd. VAT Number: GB226662558. Company Registration Number: 148476 

 

 

SHIRE 110/140AMP ALTERNATOR REPLACEMENT 

 

The 110Amp & 140Amp alternators are no longer available and cannot be supplied, below you will 

find details on the replacement  parts to upgrade to the 150Amp Alternator. 

Please note that not all the below parts will be needed. Please check your engines original 

alternator mountings first before purchasing the replacement parts as these may already be fitted. 

 

 

1x RDG20110201 150Amp Alternator  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

BULLETIN JT001 



Copyright © 2020 E.P. Barrus Ltd. VAT Number: GB226662558. Company Registration Number: 148476 

 

 

 

 

 

 

 

 

 

 

1x RDG4019723 Adjuster Bracket  

2x RDG3940 M10x50 Hex HD Screw  

2x RDG627 M10 Lock Nut  

4x RDG628 M10 Washer  

Additional washers or spacers made be required and sourced locally to ensure that the belt 

alignment is correct. 

If you do not already have the multi v belt and pulley fitted you will also need the following. 

Crankshaft Pulley & Belt  

 

 

 

 

 

 

 

 

1x RDG6076 Alternator Belt (PK6)  

1x RDG6879 Crankshaft Pulley  

3x RDG3923 Bolt M10 x 30 Cap Head Screw, BZP (crankshaft Pulley)  

3x RDG1111 Washer 

Crankshaft pulley bolts should have Loctite 242 or equivalent applied to the threads and be 

torqued up to 47NM (35-lb/ft) 

BULLETIN JT001 


